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[2] Given random samples of size 5 on the tensile strength of a metal part (see the Excel file) with LSL = 244 and USL = 256, answer the following questions.

(a) Calculate the Cp by first estimating the standard deviation of the process.

(b) What percentage of the specification band is used by the process?

	Problem_2

	247.378

	252.016

	251.814

	249.385

	247.776

	252.834

	247.868

	250.53

	249.2

	251.872

	249.036

	248.76

	251.056

	252.059

	252.965

	247.911

	247.187

	254.301

	251.286

	250.588

	249.248

	252.021

	251.756

	250.422

	251.581

	252.333

	253.922

	248.043

	250.746

	248.82

	252.867

	249.273

	249.975

	248.985

	247.23

	246.608

	251.301

	250.908

	249.96

	243.552

	247.03

	250.219

	250.215

	245.491

	251.721

	249.289

	251.152

	249.186

	244.599

	249.47

	252.872

	250.16

	250.947

	245.421

	251.05

	251.167

	248.924

	251.243

	248.79

	249.491

	250.927

	250.83

	249.479

	249.41

	249.138

	250.634

	248.104

	250.563

	249.717

	248.404

	247.731

	250.078

	247.019

	251.023

	251.99

	249.889

	250.588

	249.16

	245.261

	250.33

	250.182

	247.995

	250.259

	249.017

	247.02

	248.231

	247.583

	248.09

	251.978

	249.713

	248.899

	249.051

	248.597

	250.68

	248.798

	251.049

	252.61

	246.598

	251.785

	252.05

	253.192

	249.88

	249.105

	248.516

	249.216

	252.324

	254.608

	248.106

	251.552

	248.481

	251.859

	246.271

	250.387

	250.919

	251.44

	251.15

	251

	249.496

	249.346

	248.942

	250.913

	251.512

	249.865

	248.937

	249.74

	246.176

	248.643

	252.838

	252.006

	246.839

	247.245

	251.663

	252.098

	249.744

	250.415

	250.875

	248.063

	248.196

	250.044

	251.464

	250.243

	250.79

	246.678

	246.794

	251.115

	246.861

	247.782

	252.568

	249.142

	249.412

	248.8

	248.687

	251.582

	249.401

	248.896

	247.958

	252.835

	248.275

	251.292

	248.014

	250.712

	249.68

	251.881

	254.45

	252.193

	249.942

	251.232

	245.646

	248.76

	249.555

	249.677

	249.333

	250.628

	250.662

	250.889

	248.722

	247.754

	249.637

	251.245

	248.361

	252.145

	250.07

	246.65

	253.933

	252.182

	250.376

	248.304

	253.736

	248.349

	246.613

	247.82

	252.356

	248.656

	250.774

	250.386

	253.777

	248.503

	251.92

	251.646

	249.951

	








